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Question Number : 1 Question Id : 9032018110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consideration can be defined as
Folalglr Pt Qe 2355@0:3;21@&

Options :

Income
[ Limlonhls

Benefit
5 v DO

Profit
erdo

All
LN Toury)
[=9

Question Number : 2 Question Id : 9032018111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Contract can be signed between

aqzjgocﬁc;__g ~odSo :13;55 L0 &

Options:



Individuals

T

Legal Entities

WLDOROD DB
2. %

Illegal persons

€950 bééaw
3. % =

Individuals and Legal Entities

;35539_:.: 00050 WRDERD DB
4. i o

Question Number : 3 Question Id : 9032018112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Bailor - Bailee relationship 1s applicable in
Sanes — 5ad Dotiodo 5" D80,

Options:
Keeping article in safe custody with bank

esBSedA0 E-Fécs..‘: S CEHoTT Gotiio
1.¢ = =

Demand Draft i1ssued by bank

e{o 20 BID &R0l (7D
2. % “

Safe deposit locker
e GarRdd X8
3 %



Cash deposited with cashier by customer
E3508 oo Syphahs S8 G DabniS S

Question Number : 4 Question Id : 9032018113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A proposal may be revoked by different ways as are provided in which one of the
followings section of the Contract Act 1872.

oler g0 , 18726°0 806 EE’ nX DETE woBOLS Hifore DAY drcre
ooe ($8aRERG 8 ZODHD

oy

Options :
Section 6
v ?::Q_.:E 6
Section 7
_—'-\P‘.‘- —
Section 8
RES
3.%
Section 9
) 1;5, 9

Question Number : 5 Question Id : 9032018114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A agreed to sell 100 shares to B at Rs. 75 per share delivery to be given on the 1¥ march.
B refused to accept delivery on 1% march as price had gone down to Rs. 60 per share.
Subsequently A sold these shares at Rs.92 per share. What would be the consequence?

D6 A 100 2% DF6 B & 8r. 75 Tups HfomoTod sofiEboms.
rg) 18 GOS0 mamD) 0. §8 % &, 608 Eifos® 13 868 TONER
©orr3BomRE 36 B AoedBomrdh. Eikosto, 6 A & Flele aES;
D% &r. 92 TIPS HEowom. MNNSe Jer dotnod?

Options :
A cannot recover any damages from B
B %08 O 8 A 80A rosBd

1. %

A will have to restore to B Rs. 1700 1.e. the profit he made
A &BA B &». 1700 @ﬁ&agﬁcm& @0l ©&H Jo;dodd oo
2. #

A can recover damages to be determined by the President of the stock exchange.
T8 JEpod (BGo oroe Aowodnt dapeor 880 HPd A Srohd)
3.v

A will have to restore to B Rs. 3200.
B & A %». 3200 E\’,'_J}Eéiﬁag&oﬁi}

Question Number : 6 Question Id : 9032018115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If a price is not determined by the parties in a contract of sale. the buyer is bound fo

pay___
QE0D a.ifyoso® rhell §8 Wonolnikirs, Fhifer ~-—----

200N Botwod.
Options:

1. %



The price demanded by the seller

DES BErol T &

A reasonable price
B0 8
2. ¥

The price which the buyer thinks is reasonable

§ RN e0mrdd DirduSorT ardodd &6
3. %

The price to be determined by a third independent person.
SorES DB O[S AovoREd G6.

Question Number : 7 Question Id : 9032018116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The measure of damages in case of breach of a contract is the difference between
WD\OTF) GYoONRD WoBG o8 FRDBFCe CIE) FB-———I0G] S[EFRe

Options :

Contract price and the market price at the date of breach
STorS G0 SOOI &Yod SO T T8 &6
1.

Contract price and the maximum market price during the term of the contract

L oS G0 2000w Sotr§ HDGS° (0Q 2rOLE &6



Contract price and the price at which the plaintiff might have sold the goods
Totr§ G0 SBAI) TB SV oD GO

Contract price and the price fixed by court
Sofr§ 66 208050 §60 VYoo &6

Question Number : 8 Question Id : 9032018117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If the Bailee. without the consent of the Bailor. mixes the goods of the Bailor with his

own goods in such a manner that it is impossible to separate the goods bailed from the
other goods and deliver them back. the Bailor is entitled tobe

Bond, Banws v o, Honwd Q8] DYV B (ed
SHVSE €0, A6 HWYPL Aol HoY TodD S B BFD THI
80A Doded Bobco OG0 ©aIWod, Haws B8 whe__

Options :

Compensated by the Bailee for the loss of the goods

| SR0DY B Bod @ H85 e Borsecdirod

Compensated by the Bailee for the 1/3 of loss
1/3 Hodd JFI3 Bond mror HBFGe Borsecrdood

Compensated by the Bailee for the 1/2 of loss
1/2 Hocto HFJE Bowd @O H8FGe Borserciiood
3. %



Compensated by the Bailee for rupees 500
500 6rIrono Sand o H8FCe BorsecdBI0

Question Number : 9 Question Id : 9032018118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there 1s a single casual vacancy at a place of woman director then casual vacancy shall
be filled by

Sodree Q&EE ﬁgéo@s o2 S0 0 aol, e D 69 Al %8 Fokrd

Options :

A woman only
& (83
o (L

Male or female
i S el

Any person
R rd
3 ® a— (o)l

All
efhasn

Question Number : 10 Question Id : 9032018119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A Director who fails to attend all Board Meetings for a period of 12 months with leave of
absence shall be:
12 Foe &rn 208 of) 8 Sirdeed Faboitod® o8 FB58

Options :

Disqualified w's 164
VES 164 (H°80 edden

1. %
Vacate Office under section 167
VES 167 [B==Bo sromedie) 8 Taird
2.
Shall not be eligible for re-appointment
, SON VlrdsD8 @Bs aolith
All
5w
4.%

Question Number : 11 Question Id : 9032018120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

1s a written evidence in support of a business transaction.

O30 TS Salat e S DS oy FFso

Options :
Ledger
348
1. %

2. &



Voucher

:
\{‘-
NN

Ledger Posting

BE5 %o

3_ W
Journal
asthed
[==
4. ®

Question Number : 12 Question Id : 9032018121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1ssue of shares. normally discount should not exceed then

Tére bE® Foesoore é@o@ (discount) DooSERES.
Options :
8%
1. %
12%
2. F
10%
3. ¢
15%



Question Number : 13 Question Id : 9032018122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In cash book. bank charges of Rs.5.000 was not recorded. Name the correct cash book

adjustment
$iit 99%08° 8. 5,000 amo erben ¥aR TchniiSed. S8 KK Pt
étﬂacﬂm
[]
Options :

It will be credited in cash book

28 D ‘/"{D\ﬁu e2ad (credit) FabhnthEod

It will be debited in cash book

28 St HEos® BT Tchthod

2. %
No adjustment needed in the cash book
EnTgla @Kﬁcé” n::é:-mé.w w5380 B
3. %
Charges will be added to the cash book balance
SR @S T8 -mo& SPeosntmrom
4. %

Question Number : 14 Question Id : 9032018123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to which principle the same accounting methods should be used each year:
@ Jrgo (H5e80 (98 Sodéito o8 efofofl HEHed aadriomd:
o !

Options :



Prudence

DI%o
1. %
Full Disclosure
I8 » ﬂﬁe:at::
2. %
Materiality
EBASTOE
3. %
Consistency
E‘:%%ﬁé;c
4.

Question Number : 15 Question Id : 9032018124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A. B and C are partners in 3:4:2 ratio. B wants to retire from the firm. The profit on
revaluation on that date was Rs.36.000. The new ratio of A and C 1s 5:3. Profit on
revaluation will be distributed as:

Mr. A Mr.B 200 Mr.C 3:4:2 8:86° rifmsives. Mr. B S0if 08 355
D8Hom Dabeddotom®. © 868 b - Teydhis & ego &, 36,000 A
HBf € Bd) 58 BB 5:3 6-DeydhidTp egfo ser Sobd  Tabathiod

Options :

A -Rs.16.000: B -Rs.12.000: and C - Rs.8.000
A —®%r. 16,000; B — &r. 12,000; 08csn C - &x. 8,000

2. ¢



A Rs.12.000: B Rs.16.000: and C Rs.8.000
A —-%r 12,000; B - &r. 16,000; 0803 C - 8. 8,000

A Rs.22.500: and C Rs.13.500
A — &m. 225000; 08csm C - 8w 13,500

3. %

ARs23625:. and C Rs.12.375

A — %r. 23,625 0Bcim C - &r. 12,375
4, %

Question Number : 16 Question Id : 9032018125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Sales of Rs.20.000 recorded as Rs.2.000 1s type of error.
8. 20,000 ozren &e. 2,000 S3e Er‘jo‘j:aagom %o &¥o.
Options :

Compensating Error
S’y B0 Voo

1. %

Errors of Principle

Ardo cIng) &Jren
2. %

Errors of Ommission
QPO 0IE), &I



Errors of Commission

S0ND 5 Dren

Question Number : 17 Question Id : 9032018126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Debenture premium cannot be used to
EBotH6 oo §'0 &N Aot ).
Options:

Write off the discount on 1ssue of shares or debentures
2 For deondd 0 P SRopA (discount) 6 BosorrdS

1. %
Write off the premium on redemption of shares or debentures
D Tor EBodg DD MO GG BaDEIS
2. %
Pay dividends
ﬁﬁﬁo@@ ﬁ@otﬁﬁic%ﬁ‘é}o
3. ¢
Write off capital loss
2roed AT 6 Babrrds.
4, %

Question Number : 18 Question Id : 9032018127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Mr. A and Mr. B are in partnership. sharing profits i the ratio of 3:2. They take Mr. C as
a new partner. Good will of the firm 1s valued at Rs. 33.00.000 and C brings Rs. 30.000
as his share of good will in cash which is entirely credited to the capital account of A.
New profit sharing ratio willbe

Mr. A H08aiw Mr. B wd&sm{‘oé‘ &), 3:2 b?’qﬁé‘ EFEPOR) DoILETA.
6 Mr.C J §8 arir(Qrr Sgtrd. Rl aog) HEIS dewd

6r. 3300000 S0dodw Mr. C Rs. 30000 RA@ 6rded o8 10&EIS ™
SWDITD, PO PO A awg, Aresd Trod’ andobuhded. T6 §9
o5 2o IR MO éoted,

Options :

Question Number : 19 Question Id : 9032018128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A Company invited applications for subscription of 5000 shares. The applications were
received for 6000 shares. The shares were allotted on pro-rata bases. If Mr. Shyam
applied for 180 shares. how many shares would be allotted to him?

w8 o) 5000 Tre JAPES ERo dogred wifdeded. 6000 Terw

[N

%0 cdaro Smyow. J-Or B0 erdor D Stravctucan. 3 T

180 20> G0arad B, @33 ) ad Serowetrd?



Options :

180 shares

1. %

200 shares
2.

150 shares
3.

175 shares
4. %

Question Number : 20 Question Id : 9032018129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Directors of a company forfeited 1000 shares of Rs.10 each. Rs.7.50 paid up. for non
payment of final call money of Rs. 2.50 per share. 700 of these shares are re-issued @
Rs.7 per share. The amount transferred to capital reserve account would be

w8 $odd EOSM Gr. 10 Fiyd 1000 26wy, PIS 56 A 6. m@hm
Ddotdot® 2 dFd. dr. 7.50 ddored. 208 700 D 28) hoow
&r. T Spd 29 @0 dovwran. sEpLS 82K Foe 069 Sobedd
odo_

Options :

Rs. 2.500
1. %

=
L%
e
A
o

Rs. 3.500



4 % Rs.5.400

Question Number : 21 Question Id : 9032018130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s true if the company issues bonus shares?
g0 570D g 20 B, $od THS’ DB Dao?

Options :
Bonus share 1s an income.

- 5D 26 92 esroio.

Total market value comes down after the bonus issue.
'R W) STD dwdo AT JeDd SB0A.

Paid-up share capital increases with the issue of bonus shares.
S'R0D 2P 8S DoNE-wD DO STHDLS DAWDBA.
3. ¢

Fund flow is affected adversely due to bonus issues.
e5°R0D AG 270 ST Dol T’ DBETVCT PPN,

4, #

Question Number : 22 Question Id : 9032018131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following can be utilized for the 1ssue of bonus shares?

580 0F 08 308 TOS' B GHCITAOBBIN?

1. Balance of profits & loss account
oY dTv o SEGEN

-2

Capital Reserve
SRS Besd

L]

Dividend Equalization Fund
BT SE-BIAS Hob

4. Development Rebate Reserve
TeSRool 8¢5 Beastr

5. Profit Prior to Incorporation
:—':.a*;&"’ojﬁﬁﬁ’fa Snod erdo

Select the correct answer from the options given below:
BHD RDED JodSY Aol WPD VATTT ) JotwE ol

Options :

1. 3. and 5 only

> % Zand4only

1 and 3 only
3.v

1.2. 3. and 5 only
4, #

Question Number : 23 Question Id : 9032018132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Following was the Balance Sheet of BCC Ltd. as on 31st December 2021:
31 &Rowb 2021788 BCC DDBE z=8S) &5 Bob Hjorr #od

Equity Shares of Rs. 10 each — Rs. 8.00.000
28) 8,0 1. 10 888 2 — 15.00.000

Securities Premium — Rs. 2.80.000
2argede odoato - Rs. 2.80.000

General Reserve — Rs. 1.40.000
Feroem 626 - Rs. 1.40.000

Profit & Loss Account — Rs. 2.40.000
e.?a;‘rag"v oo - Rs.2.40,000

Sundry Creditors — Rs. 1.80.000
QG denmrden Rs, 1.80.000

Company issued 3 bonus shares for every 4 fully paid-up shares. Securities Premium
account will be utilized first and then General Reserve. To issue bonus shares Profit &
Loss A/c will be debited by

%00 (58 4 SFOm BOOTS DPD 3 86T g wbTod. WmBle Bivado

o Aokt eddrhoduthdod. Hbdh $hms alds dul: addrhod
ool E8E 0¥ wbldbwd o $& ee & ——--- GO Tohabbod

Options:

Rs. 2.40.000
1. %

Rs. 1.80.000
2.

Rs. 2.00.000
3. %

4% Rs. 2.20.000



Question Number : 24 Question Id : 9032018133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The profit earned by the company from the date of purchase to the date of mcorporation
15

S 3959 36 2008 Do B33 36 36& Lond 580000 &zfo ,

Options:

Pre-incorporation profit

@55*336‘!.’:1553 Aoty erZie
1.4

Post-incorporation profit
f&:?&ﬁ“ﬁf‘q«% ST S erdo

Notional profit
SRS erddo

Capital profit
QTR erdio

Question Number : 25 Question Id : 9032018134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The total Capital Employed i the company 1s Rs 8.00.000. reasonable rate of return 1s
15% and the profit of the year 1s Rs. 12.00.000. The value of goodwill of the company as
per the Capitalization Method will be

0206 DAERACIS Siretido &, 8,00,000 $ir&HEHS adtin 15%
S8 Jod)Bo ergfo &, 12,00,000 T;ﬁ;b@ﬁ-"’ﬁ DB8Hz80 HEDY Densd
8p. ———-

Options :

Rs. 82.00.000

Rs. 12.00.000
2. %

Rs. 72.00.000
3.¢¥

Rs. 42.00.000
4. %

Question Number : 26 Question Id : 9032018135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Insurance business in India 1s regulated by ...............
OB 0 DA PO sssenins o0 AoeGotEIB0S.

Options :

LIC
1. %

5> IRDA



3. %

SEBI

Question Number : 27 Question Id : 9032018136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Fortune Retail Limited 1s liquidated and a new company Fortune Enterprises
1 formed to take over 1ts business. It 1s a case of
%‘dﬁ%é 000 oE O8ES Bavecod B0 T :.P@“U“IJ;L SN

BREIE €6 oD &w%.a QoD yGoB. BB w8 oGB!

Options :
Absorption
5'--"
1. # o o

External Reconstruction
EJ°§T5 ﬁ‘.@é&;ﬁ:ﬁ“&ﬁo

2. ¥
Amalgamation
'A:;ﬁayé Mo

3. %
Take over
5‘&&; Do



Question Number : 28 Question Id : 9032018137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Repayment capacity in case of term loan proposals 1s judged by the banks with which of
the following ratios?
W) §'S padeve Joabed’ 88h BBd Fdwgo S0 O A erjosowt

:}gﬂnoémme‘.’ﬁoof}?
Options:
Debt Equity Ratio
a5 & Bhar
1. % N
Net Present Value
DEG DA Ded
2. %
Internal Rate of Return
eoochGeh TreId OLW
3. % ;
Debt Service Coverage Ratio
GO DT TR D
4. &

Question Number : 29 Question Id : 9032018138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If the purchase consideration is less than net assets of the transferor company. then the
difference will be shown as

w6D 3 €obd vy 6 v Lo Soffen HODLe &) ST Goll, B\
bul (2N R AVIATA T VTR
v v

Options :

Goodwill Account

oGEE oo

1. %
Capital Reserve Account
S0 0xb6y T

2. ¢
General Reserve Account
Fordn dnbl wror

3. % N
Special Reserve Account
;;.39355 dad( o

4, ®

Question Number : 30 Question Id : 9032018139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the 1tems of List A with the items of List B and choose the correct answer from the

code given below:

o A Go) soe wds B ) BoToE S0P 0l HBa BIHY B

8% 5°C 08 $3% Sirpeq) Joissod :

List- A List-B

(a) | AS-1 (1) | Accounting for Fixed Assets
NOBRVY B8 ool

(b) | AS-3 (11) | Disclosure of Accounting Policies
eFofoh Feobe ciydelle

(¢) | AS-10 (111) | Leases and its Accounting
Deven Lodosn T eotioh

(d) | AS-19 (1v) | Cash Flow Statements
66y DT DDA

Options :

1 o @)-G);

(a)-():
2.
(a) - (11):
3, %
(a) - (iti):
4, ®

(b) - (iv): (c) - (1): and (d) — (111).

(b) - (11): (c)-(u1): and  (d) — (iv).

(b) - (11); (c) - (1): and (d) — (1v).

(b) - (1): (c) - (iv): and (d) — (11).

Question Number : 31 Question Id : 9032018140 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time :

0

Correct Marks : 1 Wrong Marks : 0



Audit done by the employees of the business undertaking 1s called
TG Do) a&iﬁémm DD e3deID £90ETE .

Options :

Final Audit

Management Audit

.ﬁdﬁi}um esC.e3
2. ¥

Government Aundit

DTS e3C.e5
3. %

Company Audit
, g0 e5EES

Question Number : 32 Question Id : 9032018141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under section 138 of the Companies Act, 2013, the qualification of Internal Auditoris
g0V 30, 20136 VLS 138 P50, 0B LG Bgs

Options:

Chartered Accountant

o006 eaS otdotd
1.% =%

A Cost Accountant

2,550 9 oltlob)
2. % =



Any other professional as decided by the Board
5°5 DGowodd 288 Jyraven

3. %
All
R
4.4 %

Question Number : 33 Question Id : 9032018142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In case of sales return. the auditor should examine which documents?
2, 898 Do’ Bded DdT VN H63Vemd?

Options :

Credit notes. advice notes and inward return notes
28¢5 38T), vost ) 20dosn alHd 86T S

1. %

Debit notes. advice notes and inward return notes

30 §G), JoF ) Hbckn aSSE B S
2. #

Purchase invoices. advice notes. and inward return notes

E0fe0 aRTra0Rk0. PUDE St 208080 38X8 w8 55%
3. %

Credit notes. inspection report and inward return notes
= - oL — ST = - 2 " -
» Ba&T $°¢h), aSES 8§ b aSsf sed) ¢



Question Number : 34 Question Id : 9032018143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Section 143(12) of the Companies Act, 2013 state thatany __ of the company has to be
reported to Central Government:
SonDo B, 20136°D 25D 143(12) $obT e’ D0irD) Fog DTS

ADETO i}ﬁ“&o& -

Options :

Fraud by Officers or Employees
AL S %&%mu D0

Errors in Books of Account
T DAL’ S Frewn

2. %
Incomplete Books of Accounts
RVORTC TT® DHAVS LD
3. % ”
Qualified Report
=96 88°8
4. %

Question Number : 35 Question Id : 9032018144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



An auditor 1s venifying valuation of building which has been self constructed by the
client. Which of the following documents is least relevant to the auditor for verification
purposes’?

Xomot] {rabore 800 &isko Tk Deniiid wlird cﬁ;@ﬁ&a’g@tﬂ:. c%&)ﬁéca 5

50 ©805% 208 FEF o Eﬁ:&@:oe:fw ©8 83 Sonoddorr

Options :

Bills of Contractor
=o|¢=E0 Depen
o3 —

1.
Minutes of meeting of Board of Directors
5°%) ©f BB58 SrEdo @) Someen
2. ¢ = g i ®
Certificates of Engineer and Architect
z0ad8 085w »?5&1_55 émﬁﬁbﬁ;
3. %
Loan Agreement
coel hi)bucﬁc
4. %

Question Number : 36 Question Id : 9032018145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the circuit board that contained within the processor of computer?
S0l (FRi56° oG $8mptl £°8 2 Afnd?

Options :
Motherboard

S0¢56e5°6
1, % =



Central processing unit
ol (ol chreled

Micro-processor
8 F6

Chipboard
QE&S’GQ
4, %

Question Number : 37 Question Id : 9032018146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The operating system 1s the most commeon type of software.
e5ddon HPdD ————— %‘% 8 TnZ) ©&0s ot 8o
Options :

Communication software

E50eeQERS b

1. %
Application software
- . -
©RELS 535
2 #
System software
- -
255 F56
e
3.

4. %



Word processing software

55 (F2hof 535
o [}

Question Number : 38 Question Id : 9032018147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the name of the batch file that 1s automatically run when MSDOS is booted?
MSDOS €185 ©90mR:) 6 REVETOSeTT 63 oy =8 6 260 e

Options:

Run.bat

Config.sys

2_ W

Config.bat
3_ W

Autoexec.bat
4, &

Question Number : 39 Question Id : 9032018148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Ctrl + Down Arrow™ 1s used to

]

“Ctrl + Down Arrow™ S0 ED00T00 etHod.



Options :

Moves the cursor one paragraph down

£6\680 28 HTTH $odé 36D
1. %

Moves the cursor one line down
$6\6R0 208 Do S0t B36HS

2. %
Moves the cursor one page down
86080 28 D& 2068 B6DS
3.
Moves the cursor on screen down
DR 861650 S0 3608
4. % ~—~

Question Number : 40 Question Id : 9032018149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the shortcut key to hide the entire row in Excel?

Options :

| % Cirl+ 2
Ctrl + 9

Cul+ 6

Ctrl + 3



Question Number : 41 Question Id : 9032018150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the consumption of fixed capital which term is used in economics. ...
N6 ArwED AT &0 DSTRS B0 GHATHoBREIRS?

Options :

Production flow
&\D DT

1. %
Depreciation
Sdorfoge
2. %
Investment
FOT A0 AT
3.8 °
Value added
Dend EodheiCod
4. ®

Question Number : 42 Question Id : 9032018151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Price discrimination is found in which market 7
G0 DIE D TR EDDAA?

Options :



Pure Competition

RENDOD T’
1 . 23 5 (ﬁﬁ_
Perfect Competition
DBPS e
2. % -
Monopoly
LT HDBo
3.v
Momnopolistic Competition
TedS; T8
4. %

Question Number : 43 Question Id : 9032018152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When the supply and demand fall together. then the price will be
2dh HO0ID Aaret €9 DA &6 Gotod.

Options :

Remain constant

DO eotob
1.¢v @

Fall
DADo

Rise
adorude



Elastic
gieras
L]
4. %

Question Number : 44 Question Id : 9032018153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

was the founder of Classical Schools of Thought.
seoge I8 ob gréd PHHD
= [}

=

Options:

Adam smith
es¢ic) 6

1.9
Malthus
55.]'“95‘15
2. ® |
Keynes
83y
3.
Marshall
SIced
ol
4. ®

Question Number : 45 Question Id : 9032018154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

type of problems are brought under discussion in Micro economics.
E AT NE’ 65°0 RAR[RY WO HFaw.

—

Options :

Consumer’s Behaviour

[ DVoIraT DR 236
1.+

Public Finance
S35 TE:JE"FJ;]
-~ o

2 ®
International Trade
@oejg“éods 3‘5'33&5::

3. %

Balance of Payments

n Bopo PO,

Question Number : 46 Question Id : 9032018155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the marginal revenue of a firm that sells a product at a price of Rs.10 and the price
elasticity of demand for the product is (-) 2.

o8 688 50”{%, 28 S0 Al &r. 10 $8% HEaniod Hdckn S @
%) Grol 88 bé % .%5 g (-) 2. cODnJ o) m@‘oé srrairg) SHFSed.

Options :

Es.5
1.4



Rs.10

2. %

Rs.30
3, %

Rs.15
4. %

Question Number : 47 Question Id : 9032018156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

An ISO quant represents all those mput combinations which are capable of
producing ;
SO D &8\ doirio ©d)adiydl Soanivd Arded.

Options :

Same level of output

095 O 9:9)e5E)eS
1. -

Different levels of output at different points
SleNeV Jro0l) Sl @3¢ 5 DG ?o.ue_n
2 %

Either Same level of output or Different levels of output at different points
@ g"cm VDTS Tor B Jool 56 0T DT VS ?m&w
3. % | |



Both Same level of output and Different levels of output at different points
od Jan oPHYE Hda B¢ dronet) S ©HE JE IS Fae Tokr
4, % |

Question Number : 48 Question Id : 9032018157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

How AR and MR are correlated with each other under perfect competitive market?
B T 4570 656° AR 208080 MR der D686 Dotrogio $8A &otron?

Options :

AR>=MR

MR=<AR

AR=MR

All
Ty, ~540

Question Number : 49 Question Id : 9032018158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If a firm has constant returns to scale and increases the quantity of mputs by 10%, then
output will
w8 o MO DD Tedd DA Gof HBad WP VBATEFD) 10%

ARG RUR) [04) ()
Options :
Increase by 10%

10% DGBS
1.

Decrease by 10%
10% @ﬁbmo&

2. #
Increase by less than 10%
10% Sof 95D DM
3. %
Decrease by less than 10%
10% Sof3 889).S SHB0ed
4. %

Question Number : 50 Question Id : 9032018159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is not a condition for equilibrium of a monopoly form of market?
SO IS, MTPHDS] Erdo AV VAWVBD & DOB T

Options :
Average Revenue = Marginal Cost

e Tred = %a"oeﬁaﬁmo
1.



Marginal Revenue = Marginal Cost
G&Jod TC = &Jrodd oo

2
Marginal Cost should cut the Marginal Revenue Curve from below
S5POSS 55, GJrod Tl HETH BHD ol dociorsd.
3. %
Both Marginal Revenue = Marginal Cost and Marginal Cost should cut the Marginal
Revenue Curve from below
&Jod TR = Grodd[oe BAM HrEIS =°f, GFred T TV A
. 2008 Dolomrd. Bollr

Question Number : 51 Question Id : 9032018160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The term “Business™ 1s derived from the word
",:réavco" 9DNGo e_af:a:momodamg:}oao&.
Options :

Buy and selling
§d¢o odain v co

1. %
Financial markets
€508 070,80
2. % =
Proprietorship
ojraammgo

3.



Busy
D&

Question Number : 52 Question Id : 9032018161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The form of business organization that has the largest sales volume 1s the:
©d DG sV $9A &) TR g Erde:
& ol [} ¥

Options :
Partnership firm

wﬁﬁ‘sm_g RoR

1. #
Corporation
=5 \IEEZ{E‘}
2. ¥
Co-operative organization
RS0 o
3. % =
Multinational organization
LITOF T EVON
4. % ®

Question Number : 53 Question Id : 9032018162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following functions of a manager in an organization in correct sequence.
8 VoS FJeb @n8) S0 VR VT 008" BB oC.

1. Motivation 2.  Controlling 3. Planning 4. Orgamzing
lol:! Rododotitio DTS UEE&OE
Codes:
Options :
34 1; 2
1.¢
>x 3, 04 2,1
3 9
3 % 4. % 1, 2
4. 3, 2, 1
4. %

Question Number : 54 Question Id : 9032018163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true about managers within an organisation?
’n}c’gﬁ‘fv&:} 2022000 DotioBon) $0d TS B Jawe?

Options :

Management skills apply to managers at top levels in an organization.

. QO DRDETRD mogeﬁﬁa &A‘:;Le:&gom QTGP HBI 0.

Management skills apply to managers at all levels in an organization.
QEGEPEs JET[R VORED 6 Fo0 ITCETHOD S8I-ow.
2.¥



Management skills apply to managers at middle levels in an organization.

DOEPE JDETRD W0V | o0 AT GPLVD HEF 0.

3. %

Management skills apply to managers at executive levels in an organization.

AT DRYEFRD ‘bo“geﬁab SHITEPS  Fovdd  ATErHvD
4 % S0,

Question Number : 55 Question Id : 9032018164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The plan which includes objective, policy, procedure, and rule, is called

oo, drdo (DB Hbain Dobdrd) X0 aX) (Her@2 —--——- lolvzleV
e [=% =S
Options :
Budget
ATl N]
a0
1. %
Procedure
Programme
5°0(S00
3. ¢ ©
Strategy
Srfero

4. %



Question Number : 56 Question Id : 9032018165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Name the type of orgamsation that 1s deliberately designed by top management to achieve
a comimon organisational objective.

28F o0 ’;oog‘d@ OF(Q) JBotde=AS &) TR T GDIFO(SorT

ArJofotetd Do 65°R) 28] Bod.

Options :

Corporate Organization
57808 Do
(]

Divisional Organization
CRIS BEIFND
2. %
Formal Organization
ea&s=0s “rco'ré}n
3.¢
Informal Organization
(DhTml=alel :GGE
4, % '

Question Number : 57 Question Id : 9032018166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Functions of a first-level or front-line supervisors are to include which of the following?
o€ - Faw goe (Hotf - B3 JrdBPey (ot S8 GHELe) Hpen
206 66" BV Tomd?

a)  To determine individual job assignment
380 &8 dosrs) AWoneidde

b)  Toattend to grievances and resolve conflicts
336000 Falh T DO ITETVD 20:y, Botdtio

¢)  Toprovide technical knowledge and guidance to workers
570 08 Fo388 D0zpdo Dbody Arddd Séto woBotito

d)  To supply strategic information relating to production to management
QOGS GA\0S RowoBoddd F[FELS VAT ) BoBotito

Choose the correct answer from the options given below:
B RBWEND Jodsw Aol AN VAT ) JotddE of. :

Options :

a and b only

a and c only
2. %

a. b and c only
3. %

All
@anadn
[=
4. v

Question Number : 58 Question Id : 9032018167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

1s helpful in reducing the burden of the manager:

20326 0IE), Ty @Qmﬁma’i‘ RIPODDEIBA !
Options :
Decentralization
D30HE6
1. %
Centralisation
S0HS56
2. %
Delegation

Q5T HEs68 e Hotdtio
3.

Accountability
2T eTBS3D0

Question Number : 59 Question Id : 9032018168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Centralization refers to
So&50ea AT,

Options:

Opening new centers or branches

§¢ Soew O TROA S0SHo
1. %



Retention of decision making authority
Dgaso SRWD BEST ) JewusEdco

Dispersal of decision making authority
Qgoe BRLD WASCo BHGH Lo

3. %

Creating divisions as profit centers
e SofTrelT LaTTTeR) "n:&,%gcr:.’ac:.a
4. %

Question Number : 60 Question Id : 9032018169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

How does centralization aid in rapid decision-making?
D303 Jgoto SRS D" BofStn I DFOHDEIBE?

Options:

Less people making decision. so conclusion reached quickly

B D Do Jgoen Adaio DAL, et Jflo) S(OM tBEH
1.¢

More people making decision. so conclusion reached quickly
DYDMok HjDew IFae SRS, 0L AhoR) BB BB
2. %

Less people making decision. so conclusion reached over a long period of time,
B%H Hod IHew Adabo GWND, TR T T oY

ESQJEJa“DldJ



It doesn’t aid in rapid decision making.

20 DDoB20D Jgobe BRE Do WFoo B
4, %

Question Number : 61 Question Id : 9032018170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of a ‘Mean’?
S0’ N’ dWE), wEe IO?

Options :
The sum of deviations from the mean is zero
LD Aot IDVTV g T

1. %
It minimizes the sum of squared deviations
2b i:‘bbé QROTV 2T BHRE
=Y e 5 Het
2. %
It 1s affected by extreme scores
PO BHD I 60 T DEABDY Bod
3. %
All
e
4.9 -

Question Number : 62 Question Id : 9032018171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Find the Mode of the following data :
Sod GeP Aot AR S Red:

Age 0-6 6-12 12-18 | 18-24 | 24-30 | 30-36
(23csy)
Frequency 6 11 25 33 18 12
(@rousRysn)

Options :

20.22
1.4

19.47

20.14

Question Number : 63 Question Id : 9032018172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What 15 the Geometric Mean of 6.8.16. 277
6, 8, 16, 27 alng), Barriedd Ve DED?

Options :
1. % -
12



14

Question Number : 64 Question Id : 9032018173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the Median of the numbers 9.15.1.15.14.9.4 and X 1s 11: then find X.
9, 15, 1, 15, 14, 9, 4 ododw X Do Eioé;kéo 11 wonéd; X D sx0f &6,

Options :

1.% 12

11

10

13

Question Number : 65 Question Id : 9032018174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements 1s true about the arithmetic mean of two regression
coefficients?
Tok) BRSO Ednhabotly e, @osAtd Wiy MmBed) $od DeSotiws’ DA

Ddao!
Options :

It 1s less than the correlation coefficient
28 VITFVotIod ESo Sofd 935%;3

1. %
It is equal to the correlation coefficient
Qb VIR0 WSS RAFDo
2. %
It 1s greater than or equal to the correlation coetfficient
B8 DITFRotIot eSo Sofl 6]5.'%55 O DATNoT™ Sotlodd
3. %
It is greater than the correlation coefficient
28 VITFVotIed ISo Sofl DE‘;.'}EF&
4.

Question Number : 66 Question Id : 9032018175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following cross validation techniques 1s better suited for time series data?
28 THS D 5O G 8)5e0 Do 36 Gerdd e LYo’

Note: For this question, discrepancy is found in

qguestion/answer. Full Marks is being awarded to



all candidates.
Options :

K-Fold Cross Validation
K-9'% 579 SODESE

Leave-one-out Cross Validation
9555095 55 D5,

2.
Stratified Shuffle Split Cross Validation
FOPE DS S TO $AL6N
3.
Forward Chaining Cross Validation
F66 Boh O AL
4, =

Question Number : 67 Question Id : 9032018176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Given x = 2y + 4 and y = kx + 6 are the lines of regression of x on y and y on x
respective. Find the value of k. if value of r1s 0.5.

x=2y+4 By =kx 46 OBy PX dawx Py W)

BAS S0 DowodBerT Gotran. I Do 0.5 eand k Jendiy SAufed.

Options:
1/8
1.4
1/3



1/4

Question Number : 68 Question Id : 9032018177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For two correlated variables x and vy, if coefficient of correlation between x and v is
0.8014. variance of x and y are 16 and 25 respectively. Then, the covariance between x
and y 1s

Oots) Rirdotiotd 5&01)&135:)}{ 08ain y §%0, X ndainy :.1.3655 DiTRoed Mitse
0.8014 ©ONS, x OOy G Bcso SWANT 16 B0 25. BRY)E, x By
So¢sy € Dasrody

Options:

162.08

16.028

5 % 160.28

16.208
4, %

Question Number : 69 Question Id : 9032018178 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For a distribution of student’s height, the quartiles are 60.125; 61.345: 62.688. the
absolute measure of skewness 1s

Dc:q]g e, A oS8, 5°(00ew 60.125; 61.345; 62.688. 558 AO0g) RoPY
Sod .
Options :

0.321

Question Number : 70 Question Id : 9032018179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Calculate the mean deviation from the mean of the numbers 10. 9. 21. 16. 24.
10,9. 21. 16, 24, Roadjo ALY Dol NG Dnﬁwmﬂl ﬁébotﬁcd.

Options:

3.2
1.

1]



4.0

Question Number : 71 Question Id : 9032018180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are the limitations in the creation of credit of commercial banks?
Sob Y Tra| ePew A MY HIWSW A’

A, The amount of cash that commercial banks possess
T erjosorn $BH &) Anc Awdo

B.  Supply of collateral security
BaeNs JRY NEVT

C.  Monetary policy of the central bank
oS arjos i DT o

D.  Allied deposits scheme
ReIod Garal DESo

E.  Deposits linked with special benefits
28(¢ poraTed Bo§ dabudd ddraw

Choose the correct answer from the options given below:
B RAEEH Jodsw Dot AP AFTTY) dotidE ol

Options :

A.D and E only
A.D 208030 E 3785



A. C and E only
A. C 8o E Sradlo

2 %

C and D only

C S0dcdw D argdo
3. %

D and E only

D 2o8ciw E g
4.

Question Number : 72 Question Id : 9032018181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which among the following 1s not a public sector bank?
So& TS IS Cof SICE R RN &7

Options :
Allahabad Bank
eTferd E-I“ﬁcg
1. % L
City Union Bank
28 oirdond e(05
2. ¢ =
UCO Bank
LIC6) E.Técg
3 %



Vijaya Bank
D2p0dr erjos

Question Number : 73 Question Id : 9032018182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"Repo Rate" refers to the rate at which
0" Gen” SQ &) B ArdRS
Options :

RBI borrows short term money from the markets
RBI 35700 Aol Doy s ey SR080e008

Banks keeps the money with RBI
5 % EreSien ey RBI O6 &othorow

Bills are discounted by RBI

Deen RBI &@(0° I 08 SoRes o
3.¢

Forex purchased by RBI

05y RBI orqor Saofien dabec.od
4. % =

Question Number : 74 Question Id : 9032018183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which 1s not a function of RBI?
2& RBI cowg), D& s°a0?

Options :

3.¢

4. %

Holding cash reserves of all commercial banks and make available financial
accommodation to them.
o) Teda @rosw A U ¢dh &octio SwBosn B4 808 508D

e90ceTee” Gotdcio.

Assuming responsibility of all banking operations of the government.
QS0 CI0E) B erfodol TEETIVD (S Iirorito.

Assunung the responsibility of the statistical analysis of data related to macro economy of
India.
CARelulnt: ;wu B80S DV RotoBoRN GeF aws),  (ieros Q3 EPG SR

?»}5560:;’1@0.

Assuming the responsibility to meet directly or indirectly all reasonable demands for the
accommodation,
308 8%0 ©) AASPD Cireddd Pt Tr HELomr S\ e

Seratdito.

Question Number : 75 Question Id : 9032018184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The volatility in the Indian Share Market 1s due to:
2rdaady 26 QI“EETEEEE!& e::igde:ﬁs_) s°Gev0

A Inflow and outflow of foreign funds
DB DOV DTEe BAIN DI

B. Fluctuations in foreign capital markets
DB 20D 0)weS° T Sden

8 Changes in the monetary policy
@3] Do ATy

Which of the above-mentioned causes are correct?
DD D6 TOETUS” IO DJHG?

Options :

Aand B

Aand C

A BandC

Band C

Question Number : 76 Question Id : 9032018185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A "Hybrid" fund is one that
”;._P@ci" Dol e9ok]

Options :

Invests in both bonds and stocks

eToc 0803 FEy TototdeS A Dewed DEIBICE
1. %

Started as a closed-end investment company. but changed to a mutual fund
g eé—i)oﬁ @55%3305 dondrr FGoDotseIGod), o) ngtﬁ.)b&ﬁ DoGIT Md{bm&ot’b

Has different "loads" for different classes of mvestors in the fund

D065 DG Sdrw b%}nm&um“muaa Sl NV "5 Een” &) o0
3.¢

Can serve as an investment vehicle, but also provides check-writing privileges.
DEDRC OG0T GHOTEEEE, 50 35-50h LOTTVR &rE ©odivod.

4, %

Question Number : 77 Question Id : 9032018186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about financial markets and securities are true?
DTS Arga Hbakw VErEdY MBD S0 RS0k’ B dao?
Options :

A bond 15 a long-term security that promises to make periodic payments called dividends
to the firm'’s residual claimants,

trol 090 R:o;g a8 CRET ) TR CAG0E) ) HVSE SRR

2oy Saberdd HF widy Sesds B58.



A debt nstrument 1s intermediate term 1f its maturity 1s less than one vear.
Qe DBSGo TR méae‘i wS PoddGo Sofd LV Gotd m¢5¢a¢ ;::?5;3@.

2. %

A debt mstrument is long term if its maturity is ten years or longer.
6o DBSGo T WATOD AW O BodsoB I oS AISHeom Eotiod.
3.¥

The maturity of a debt instrument 1s the tume (term) to that mstrument’s expiration date.
G DBSCo A mmﬁaé B3R & D0sbo s (DY 388 Hodo

L (;55:.)(3)

Question Number : 78 Question Id : 9032018187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The government regulates financial markets for three main reasons:
QIFE) PTA TOTY DU ejgs 20°0) Q0 IS0 Q030G A

Options :

To ensure soundness of the financial system. to improve control of monetary policy. and
to increase the mformation available to mvestors.

808 J(N A LAY Dg’&oﬂ’:ﬁ:"bé, b Do oo MM
HOWNEEAS 0050 :J%DEJ&CJ“GJUSJ e90CETeeS” &) AArET) Rl N )

1.¢



To improve control of monetary policy. to ensure that financial intermediaries earn a
normal rate of refurn. and to increase the information available to investors.

6] deridop Aabogndy Wb Detito, BOS HiSbw FErom Td G

Toder Bt SuBady b%}nw&wmus‘o 90ciEPees’ &) AT Dotitio.

To ensure that financial mtermediaries do not earn more than the normal rate of return. to
ensure soundness of the financial system, and to improve control of monetary policy.

608 WOPOL FToR TuG S0 Sof D RodBowkSder BrRo dco,
80s OSD dg) DORSM ITBotito HBOIY I IFTHep oo

L x 0D,
To ensure soundness of financial intermediaries. to mcrease the mformation available to
mnvestors, and to prevent financial mtermediaries from earning less than the normal rate of
return.
808 uEfbe  DHHBL :)gaoz:ﬁm:}é, DEVLGTDOS  BodEFS &)
RATET ) D38 bt 08 uGfden Foron vl 6 Sof 3833
Do Qotitiote DB BotdeR8.

4, %

Question Number : 79 Question Id : 9032018188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Normally as per KYC guidelines. the validity period of small deposit account is
Jorder KYC ArgasEe 95do, W) Gred T awg) B

;3533@

Options :

Six months
1w B0 Qv



One year

s 'rboo‘ilﬂ;}ﬁc
2.

Five years
DA VoDSNTLD

No age restriction

Pelev LIS LS OB T
4, ®

Question Number : 80 Question Id : 9032018189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In case of wrongful dishonor of a cheque by a banker having sufficient funds to the credit
of the customer. the Court may award

8808 Aoy DA &R) (oSS BED ST BTSN Rostyed, §g
D o BaLIWY.

Options :

Ordinary Damages

Foroe DT
1. %

Nominal Damages
TR0ITSY) AT



Exemplary Damages
e5C6 ,FTODRVD AT

Contemptuous Damages

&5 8 Harew
4, % =

Question Number : 81 Question Id : 9032018190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which company took over Ford's passenger vehicle manufacturing plant at Sanand in
Gujarat?
DRSS DS I &éfaoa&é FETV d0ird Fotid O €odd F o

Br0806?

Options :

Ola

Tata Motors

Mahindra and Mahindra

Hyundai

Question Number : 82 Question Id : 9032018191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which is the 20® European country to adopt the euro currency from 20237
2023 %08 chrd® B wdHen TRE 205 BrEHELS B¥o 67

Options:
Monaco
1. %
Malta
2. %
Croatia
3.¢¥
Luxembourg
4. %

Question Number : 83 Question Id : 9032018192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Indian personality has been signed on as brand ambassador of ‘Garuda
Aerospace’?
galsvin 3}55';3@}5‘ ol worrkiBr & 8B & Sogdo Tl?

Options :

Virat Kohli

Mahendra Singh Dhomi
2.



Ranveer Singh

Deepika Padukone
4. %

Question Number : 84 Question Id : 9032018193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was called as the “Father of Public Sector Undertakings’ in India?
TBERTE” (HehE: ol ﬁo%@: FEE o DB HerH?

Options :

V. Krishnamurthy
1.4

Shanta Kumar

2. #

Ramesh Bais
3. #®

Prahlad Singh Patel
4. %

Question Number : 85 Question Id : 9032018194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



When 1s the ‘Goods and Services Tax (GST) Day’ celebrated in India?
FB8a508 DR Hday Vv S8y GST ﬁ@"seﬁn}éo‘ P whHLotrsh?

Options :
| % June 1
June 30
2. %
July 1
3. ¢

July 31

Question Number : 86 Question Id : 9032018195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the theme of ‘Digital India Week 20227
‘B2d sodair HE 2022 Gw¥) 6 HE?

Options:
Catalyzing New India’s Techade

India’s Digital Start Ups

Local to Global



Atmanirbhar Start up Ecosystem

Question Number : 87 Question Id : 9032018196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which e-commerce site has partnered with National Payments Corporation of India

(NPCTI). to enable doorstep digital payments?
625 Ashd 3oy @SOWOMEK‘JE @3- b R, 58S Doth

&:

—l‘-I

SE)34S f s08di NPCI & sifdmiino L0A dob?

o

Options:
Amazon
Flipkart

Snapdeal

Jiomart

Question Number : 88 Question Id : 9032018197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Open Network for Digital Commerce (ONDC) launched ‘Grand Hackathon™ 1
collaboration with which institution?

L% 36, 95 B SiiG) ONDC & R0y S:Pe808" ol SHeR %)

@=ododiod?

Options :

NITT Aavoge
3. % S

SIDBI

Question Number : 89 Question Id : 9032018198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which state has signed MoU with Telangana to set up all women-run cooperative bank?

" s ,
o) diree JFsd woHod JTiy drothD, Boorrnd o D‘éﬂ VTR

=N

adjolio HEbdnHod?

£
o

Options :

Andhra Pradesh
1. %

Rajasthan
2. 9%



Karnataka

Punjab

Question Number : 90 Question Id : 9032018199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who is the head of the Goods and Services Tax (GST) Council?
18 @of rf:?:r‘?\.w 3ST ¢5) P00 0808 JSH?

Options:
 RBI Governor
’|_ W

Union Finance Minister

Finance Commission Chairperson

NITT Aayog CEO

Question Number : 91 Question Id : 9032018200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate antonym of the given word ‘EMPATHY ..

Options :



Sympathy
Appreciation
Warmth

Apathy

Question Number : 92 Question Id : 9032018201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Pick out the synonym of “ERUDITE’ from the following
Options :

1 % Execute

5 Expanse

Academic

Settle
4. %

Question Number : 93 Question Id : 9032018202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The purpose of trouble-shooting report is

Options :

1 Analyze the problem

Incorrect the defeat

Dislocate the defeat

All

Question Number : 94 Question Id : 9032018203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The report 1s always written in

Options :

Sequential manner

Irre gl‘liﬂ I' 1mmanner

Horizontal manner
3. %

4 % Data biased manner



Question Number : 95 Question Id : 9032018204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The length of informal report should be

Options :

13 pages
1. #

1-3 pages

1/5-page

Full page

Sub-Section Number : 2
Sub-Section Id : 903201124

Question Shuffling Allowed : No

Question Id : 9032018205 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Question Numbers : (96 to 100)

Question Label : Comprehension



Read the passage carefully and choose the best answers to each question (96 - 100)
out of the four alternatives.

PASSAGE:

Genetic variation is the cornerstone of evolution, without which there can be no natural
selection. and so a low genetic diversity decreases the ability of a species to survive and
reproduce. explains lead author Yoshan Moodley. Professor at the Department of
Zoology. University of Venda in South Africa.

Two centuries ago. the black rhinoceros — which roamed much of sub Saharan Africa -
had 64 different genetic lineages: but today only 20 of these lineages remain. says the
paper. The species 1s now restricted to five countries. South Africa, Namibia, Kenya.
Zimbabwe and Tanzania. Genetically unique populations that once existed in Nigeria,
Cameroon, Chad, Eritrea, Ethiopia, Somalia, Mozambique. Malawi and Angola have
disappeared. The origins of the 'genetic erosion' coincided with colonial rule in Africa and
the popularity of big game hunting. From the second half of the 20th century. however,
poaching for horns has dramatically depleted their population and genetic diversity,
especially in Kenya and Tanzania.

Sub questions

Question Number : 96 Question Id : 9032018206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What 1s important for evolution?

Options :

| % Large population

Survival of the fittest

Genetic variation
3.

4 % Mixing of species



Question Number : 97 Question Id : 9032018207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Sub Sharan Africa has lost how many black rhino genetic lineages in 200 years?

Options :

1. #

Question Number : 98 Question Id : 9032018208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Genetically unique black rhinoceros has been lost in all of the following countries.
except?
Options :
Nigeria

1. #

Malaw1



Tanzania
3. %

Chad

Question Number : 99 Question Id : 9032018209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the second half of the 20th century what has caused a dramatic fall in black
rhinoceros population?

Options:

Colonial rule

Fall in genetic diversity

Poaching

Big game hunting

Question Number : 100 Question Id : 9032018210 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Genetic diversity is proportional to

Options:

1.4



the ability of a species to survive and reproduce

extinction

3 % species population

inbreeding



